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BASED ON NCERT PATTERN-

Yesterday we had seen how to arrange 12 books equally
in 3 shelves.

There are 20 eggs. Arrange them equally in 4 trays.

- Total number of trays -

i. Total number of eggs

B Dpivision fact
¥. Number of eggs in each it tray.

The repeated subtraction fact

Today you have to arrange 20 eggs equally in 4 trays.

e Division as reverse of multiplication-
Divide 24 by 6
6x1=6
6x2=12
6x3=18
6x4=24
(This means that there are 4sixes in 24)
Therefore,24+6=4



Homework-Solve the table.
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